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1. The HCF of two numbers is 98 and 4. What is the HCF of a?b? + 2¢%p2
their LCM is 2352, The sum of the

and (ab)’ -4a?b? ?
numbers may be

(@) 1372 @ ab
2:.3
(b) 1398 o Wl
fc) 1426 G
(d] 1484 @ ab?

5. What is the LCM of x? +2x-8§,

2. Consider the following statements : x3 —4x2 L4x and x2 +4x?
1. To obtain prime numbers less 5
than 121, we are to reject all @ x{x+4)ix-2)

the multiples of 2, 3, 5and 7. (b) x(x+4){x-2)

2. Every composite number less
than 121 is divisible by a prime fe]  x{x+4)x+ 2)2
number less than 11.

(dj x(x+4)?%(x-2)
Which of the above statements

is/are correct?

6. A can do a piece of work in 4 days
{a) 1 only and B can complete the same work
in 12 days. What is the number of

(b) 2 only days required to do the same work
{c) Both 1 and 2 together?
2 b} 3
{d) Neither 1 nor 2 {a) {b}
fc] 4 (d 5

3. Which one is one of the factors of . _
7. Consider the following statements :

1 1
x2+—2+8[x+-£]+14? 1. x+3 is the factor of
* x3 +92x? +3x+ 8.
fa) x+ 1 +1 2. x-2 is the factor of
X x3 +2x% +3x +8
1 Which of the statements given
(b) x+ = +3 above is/are correct?
1 fa} 1 only
fc} x+—+6
x (b} 2 only
i fc) Both 1 and 2
{d) x+—+7 _
x (d} Neither 1 nor 2
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1. < gEmalt %1 HCF 98 & 3t 3m LeM
2352 §| GEma w1 4 = 8 gEa &Y

fa) 1372
(b} 1398
fc) 1426
{d) 1484

2. Frfeafas = ) =R it .

1. 121 § 3 3w sEN TR &
fm el 2, 3, 5 3 7 & wht
wefer w4 §)

2. 121 ¥ B TS W 9@, 11
¥ Bt vy v | v )

I FU A A BE-T/A T B/
o) e 1

(b) <o 2

() 13 2t

(d) Ad13Mad2

3. Pr=fafas & 4 #h-w

x2 +l+8(x+-l]+14
x2 X

(b) x+—+3
fc] x+—+6

fdi x+—+7
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. a?b* + 2a%p? N (ab)” -4a?b° =

HCF &1 87
(a} ab

{b} a2b3
¢ a*b?

{d) a*b?

. x2+2x—8, x3 -4x2 yax aflt

x% +4x F LCM w1 27
{a) x(x+4)(x-2}2
(b} xix+4)(x-2)
0 xix+4)(x+2)?

{d) xix+4%(x-2

. Th FE R A, 4 fE R g o}

s wd A B, 12 Rt Fw R
a1 ®| I w7 R oF WY O e &
fore 3-8 foram oY < srreraeran 87

(@) 2 (b) 3
c) 4 (d} 5

. Freferftas a9t ® foem 6l .

1. x3+42x2+3x+8 & TPHETE
x+3%1

2. x3+2x? +3x+8 W IPHGEUE
x-28

Iode FuAt § ¥ FA-W/A w327
fa) Fa& 1

(b} = 2

¢ 1 322+

d Td@1siad2

[P.T.O.




8. A person sold an article for € 3,600
and got a profit of 20%. Had he sold
the article for ¢ 3,150, how much

12. In a class of

110 students,

x students take both Mathematics

and Statistics,

2x +20 students

profit would he have got?
{a) 4%

(b} 5%

take Mathematics and 2x+ 30
students take Statistics. There
@are no students who  take

neither Mathematics nor Statistics.

What is x equal to?

(c} 6%
(d 10%

9. What is
(2 + 2 x - y}-(x - v)®
x2y_xyz

equal to?
(aj 1

(b} 2

(c) 4

(d} -2

10. If x+y-7=0 and 3Bx+y-13=0,
then what is 4x2 + y2 +4xy equal
to?

fa) 75
(b} 85
fc) 91
{d} 100
11. If the expression x° +3x2 +4x+k

has a factor x + 5, then what is the
value of k?

fa) -70
{b) 70
{c) 48
(d) -48
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fa} 15
{¢) 25

b} 20
(d} 30

13. If x2 =6+J6+J6+,/6+---m, then

what-is one of the values of x equal

to?
(a) 6
(b} S
(c) 4
(d} 3

14. The quantity which must be added to

(1- x){1+ x?) to obtain x

3 is

(@) 2x3 +3x? +x+1

(b} 2x3 + x2 + x

=1

fc) 2x3 - x24+x-1

(d ~x?%+x-1

15. Consider the following statements :

1. 7710312401

is divisible by 11.

2. 173 is a prime number.

Which of the statements given
above is/are correct?

fa} 1 only
{b} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2




8, U% =it 7 TH I € 3,600 # I af
20% 1 @M 9| IR T I g A
£3,150 ® o= ga, o I8 e &
qr1 g

{a) 4%
(b) 5%
¢} 6%

{d) 10%

3, tx2+y2)£x—y}—2(x—ya3m§@%?
XY=y
(@) 1
fb) 2
) 4
(d -2

10. IR x+y-7=0 ¥ 3x+y-13=0
R, M ax? + 42 +4xy s g B2

fa) 75
fb) 85
fc) 91
{d} 100

11. 3 &% x2 +3x% +4x+k F TH
TOAEYE X+ 5 &, O kT WA F=TR7

fa) -70
(b) 70
fc) 48

{d) -48
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12. 110 et &t o wean # x ferenfilat 3
nferg s gifers €, 2x + 20 fernfifat
3 it @ 2x + 30 faenfiat 3 wifesd
ot &1 T @ faenefl a8, A oA
T ©ft B St 7 wifemhl x fFEs

| 87

(a) 15 (b) 20

fc) 25 (d) 30
13. IR

x? = 6+J6+1‘/—6-+—6Jﬁ

2, @ x W TH 9H fRaE gy 27
faj 6
b} S
fc) 4
d) 3
14, x3 w3 & foaw (1- 91+ x2) d s viw

Al avaF 87

fa) 2x>+3x%+x+1

{b) 2x3 + x2 4 x-1

e) 2x3-x?+x-1

{d ~x*+x-1

15. fFm=fafaa Faat o feEm fim .
1. 7710312401, 11 & fpyeg 2
2. 173 UF 9 TEA 2
IUT HYAL W FA-[/A wd B/ET
fa) %ad 1
(b) e 2
fc) 13 2eF
(d) Id 1R 2
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16. 19° +21° is divisible by 20. If

X Yy i
fa} 10 only 5"‘5—4911‘1 ‘;"‘;—1
(b) 20 only then what is x + y equal to?
fcj both 10 and 20 fa) 11
{d) neither 10 nor 20 (b} 10
fc) 9
17. If 492 - 252 = 37x, then what is x @ 8
equal to?
fa) 64 21. A person’s salary has increased
from € 7,200 to € 8,100. What is the
(b} 74 percentage increase in his salary?
fc) 48 fa} 25% (b) 18%
(d) 42 | () 162% (@ 124%
18. For what values of k will 22. X can do a work in 16 days. In how
days will the work be
4x> +9x* - 7x3 - 5x2 — 4kx + 3k 2 marny  day
* x x % kx completed by Y if the efficiency of
contain x -1 as a factor? Y is 60% more than that of X?
(@ 3, __12_ {a} 10 days
fb) 12 days
(b} 3, ~1 fc) 25 days
(c) 0, % (d) 30 days
(d 1, '13' 23. Two lots of onions with equal

quarntity, one costing ¥ 10 per kg

and the other costing ¥ 15 per kg,

are mixed together and whole lot is

divisible by sold at &€ 15 per kg. What is the
profit or loss?

19. x(y? -2+ yz? - x?) +z(x2 - y?) is

{a) {y-z) only
fb} {z- x) only

{¢/ both (y-z) and {z- x}

{a) 10% loss
(b) 10% profit
fc} 20% profit
{d] meither (y-z) nor z- x) (d) 20% loss
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16. 19° +21° Thud favrsy #7
(a) e 10
(bj FEA 20
¢} 10 =R 20 9t
(d) T 10 3T 20

17. IRk (492 - 252 =37x 8, T x FwEs
EOCI S

fa] 64

(b) 74
{c] 48
{d) 42

18. k% frm Wl & fog
4x7 +9x% - 7x3 - 5x2 _4kx+3k2

H x - 1 0% PHEE ¥ w9 § war 27

@ 3, -4
(b) 3, -1
(c) 0, 3
@ 1,4

19. x(y? -2?)+ yiz? - x%) + z(x? - y?)

forad fanmeg &7

(a) @ (y-z2)

(b} 96 (2~ x)

€ {y-2) 3 (z- x) 3
(d) @ (y-2)MITIA (z2-x)
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20. aR X1 Y-43 2,
2 3 X
s a7

{a) 11

=1%,?ﬁx+y

w | w

(b} 10
fc)] 9
(d} 8

21, TF e W A0 T 7,200 ¥ st
8,100 & T IAF Aq7 H fF
e <t gfs g4?
fal 25% (b} 18%
(c) 162% (d) 121%

22. X% FE N 16 At qu W wwar §
AR vl 3em X4 60% A B, @ v
36 wd A fre i # qo wm?

(@) 10 &=
b) 12 &=
e} 253
(d) 30 =

23. TH ¥ 10 7 kg Fivm 6t oM gl # 15
Wi kg Wd #, @ TR A Gt G
£ 20T = v T fen R s 2 ek
0 3+ F 15 9fd kg F @ 39 R
ST B 1 ¥ @ I A4 = i gl

@) 10% w1
(b) 10% &
c) 20% Tv
(d) 20% T
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24. For integers @, band ¢, ifHCF{qg, b} = 1
. and HCF{(q, c) = 1, then which one of
the following is correct?

{a) HCF(g, bc) =1
(b) HCFa bc)=a
fc) HCFlg be)=b

{d) None of the above

25. If b is the largest square divisor of ¢
and a? divides ¢, then which one of
the following is correct? (a, b, ¢ are
integers)

{a} b divides a
(b} a does not divide b
{c} a divides b
{d)] a and b are co-prime
26, If k is a positive integer, then every
square integer is of the form
fa} 4k only
(b} 4k or 4k +3
{fc) 4k+1or 4k +3
({d} 4k or 4k +1
27. Every prime number of the form

3k +1 can be represented in the
form 6m + 1(k, m are integers) when

{fa) k is odd
(b} k is even
(¢} k can be both odd and even

({d] No such form is possible

B-BCRE-M-NBU/48A

28. How many 200 mm lengths can be
cut from 10 m of ribbon?

fa) SO
(b} 40
fc) 30

(d) 20

29. What is 262 + 972 equal to?
(@) 272 +932
{b) 342 +932
fc) 822 +412
(d) 792 +622

30. 2 men and 1 woman can complete
a piece of work in 14 days, while
4 women and 2 men can do the
same work in 8 days. If a man gets

& 90 per day, what should be the
wages per day of a woman?

(a) ¥ 48
(b) € 60
fc) ®72

(d) T 135




24, g @Emet q, b 3 ¢ F fim afe 28, 10m & B ¥ §-200 mm H Frert

Frffes # @ FH- T W 27
{a) HCFla bc)=1 fa) 50
(b} HCF{g, be) = a b %
{¢) HCFig bc) = b :
(d) 3w d & w3 adf {c} 30
25. AR ¢ % Feau o wwE b ¥ W o B (d) 20
a2 famfm w@ 3, @ Prefifes # @
FR-81 TF W@ 87 (a, b, ¢ T FE _
) 29, 262 + 972 fras TUe £7
fa) b, aF faonfm =@ 2
' 2 2
(b) a, bt fwifom 78 s 2 (@} 277 +93
] & BN e P 342 1937

{d) a 3N b HYEN &
fc 822 +41%

26. 4R k ©H w4 qUifE §, @ TE 91 quie
{8 w9 =1 §m? (d) 792 +622

fa) *ad 4k

(b} 4k3TM 4k +3 3&@%’&23@@'{]:@@14%1}@

(d) 4k W4k +1 ¥t wd W 8 At # @ T 3 Al

TF J§% € 90 ¥l uen §, @ v nfken
27. 3k+1 ¥ § ¥AF IWmA wEn @ ! ity 1 woR e g fee?

6m+1 (k, m O & §) F & o .

frefira fn s aem 2, sl (& 48

fa) kToam g ) ¥ 60

(b kw3

() Kk fm ol am, At @) w & fe] T 72

{d) T8 TER F FHg T qOE T 3 {d €135
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31. Which is the smallest number among
the following? '

fa) [(57%)72?
(b} [(572)2]2
(e (@222

(d) [275)2)2

32. What is the last digit in 7%02 4+ 34023

(@ ©
(b} 4
(c) 8

(d) None of the above

33. A frain running at the speed of
72 kmph goes past a pole in
15 seconds. What is the length of
the train?

fa) 150 m
{b) 200 m
fc/ 300 m

(d) 350 m

34. 18 men can earn ¥ 360 in 5 days.
How much money will 15 men earn
in 9 days?

(a} € 600
(b) € 540
(e} ¥ 480
(d) € 360

B-BCRB-M-NBU/48A
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35. The pair of rational numbers that

lies between —1- and E is
4 4

262 752

@) 1000’ T000

24 74

) 156" Too

9 3i

(c) 40’ 40

252 748

) iyt
1000° 1000

36. A bus starts with some passengers.

At the first stop, one-fifth of the
passengers gets down and 40
passengers get in. At the second
stop, half of the passengers pgets
down and 30 get in. The number of
passengers now is 70, The number
of passengers with which the bus
started was "

{a} 40
{b} 50
fc) 60

(d) 70

37. A can finish a work in 15 days, Bin

20 days and Cin 25 days. All these
three worked together and earned
¥ 4,700. The share of Cis

(@) T 1,200
(b} € 1,500
() € 1,800
(d) 2,000




31.Jﬁmﬁ¢f@aﬁmaﬁaﬁwaﬁq-m%? 35,%mgaqaﬁaqgamq&aaﬁwaﬁ

() (5727272 F1 gW 41 7
262 752
(b) (57222 @ Too0" 1000
n=5y-~21-2 ' 31'_ ﬁ
e} (@) B 100’ 100
(d) [(27)%* ) i
40" 40
’ 252 748
32. 7902 4 3902 & 53 37 w0 27 4 6506’ 1600
{a) ©
b 4 36. T% 7@ F© A Wi @A A} wem
. Ie0a T At ot gl e a9 s
C,

2 3l 40 wEh X =g 3@ B g
(d) I | B HE T FE0E T g anl I wR § e 30
I} It WG ITW B oe it it wE

33. 72 kmph F =@ ¥ Ast g = WM 70 | =l 4 = wew, R @ Tw

w wd W 15 39s § e 2 TR S
TemEl i orars = B e (a) 40
(@) 150 m {b) 50
(bj 200 m (c) 60
(¢} 300 m (d 70
(d) 350 m
37. WA A 15 A d, B 20 RA1 7 alkr
34. 18 amedt 5 RA § & 360 B A § C 25 A % qU R wwa 31 A dH
15 3merht 9 R & freeft ga1 HAE? wr et wF wd 8 sf € 4,700
T &1 C T w3
fa) ¥ 600
(@ € 1,200
(b} ¥ 540 B ¥ s
() ¥ 480 (¢ ¥ 1,800
(d) ¥ 360 ([d ¥ 2,000
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38. If x is positive even integer and y is 41. A man cycles with a speed of

negative odd integer, then x¥ is 10 kmph and reaches his office at
1 p.m. However, when he cycles
(@) odd integer | ' with a speed of 15 kmph, he

reaches his office at 11 a.m. At
what speed should he cycle so that

b} even integer
®) 8 he reaches his office at 12 noon?

{c) rational number {a) 12'5 kmph
{d) None of the above {6} 12 kmph
fc} 13 kmph

39. Two cars A and B start
simultaneously from a certain
place at the speed of 30 km/hr and
45 km/hr respectively. The car B
reaches the destination 2 hours
earlier than A, What is the distance
between the starting point and

(d} 13'5 kmph

42. 20 workers working for 5 hours a
day complete a work in 10 days. If
25 workers are employed to work
10 hours a day, what is the time

tination?
dehiibalinn required to complete the work?
fa} 90 km (o} 4 days
(b) 180 km (b) 5 days
fc) 270 km (c) 6 days
d
(d} 360 km (d} B.days
43. If m and n are natural numbers,
40. 4 goats or 6 sheep can graze a field then Wn is
in 50 days. 2 goats and 9 sheep can
graze the field in {a} always irrational
(@) 100 days {b) irrational unless n is the mth
©  power of an integer
(9, W2 dags (¢} irrational unless m is the nth
power of an integer
{fc) 50 days
{d) irrational unless m and n are
{d) 25 days co-prime

B-BCRB-M-NBU /48A 12




38. AR x v WA Tls ¢ st y ww fauw

Ui R, @ xY &

(a) Tom qnt=

(b) WH Il

{c) uftAT gen

(d) ST d A B

39. T% fag A @ #l A 3k B wuw:

30 km/hr 3R 45 km/hr & /9 ¥
TF WY WHT gl 81 R B T A
WHE AW 2 IR G G A R
TRy forg iR e WA F Wi gt
w1 87

{a} 90 km
(b) 180 km
¢} 270 km

{d} 360 km

40. 4 =@ @1 6 A w @d & S0 KAt

= Gl £ 2 wwiEl ot o W @a
e fomt A = w&@hi?

fa) 100 f&=
() 75T
(c) sof@

(d) 25f=

B-BCRB-M-NBU/48A

41, T6 AEH 10 kmph N I A "Elea

TAM R AW TER 1 9 WE
TgEal 8| a9, §9 9% 15 kmph &
o B TEfRw 99w R, @ 9 6
11 o< T®E Ug=R0 21 98 ERiha e
A & A B ST TR IR 12

qga?

(@) 125 kmph
(b)) 12 kmph

¢/ 13 kmph

{d) 135 kmph

42, 20 &R f3 o 5 92 wW W T FW

= 10 a1 % qu = §1 3l 25 weemi
B d 10 o wm FE & i Fmn

ST g, M EH K P B F AR
9T T RY

(@) 4fa
(b) st
) 6T
d 8T

43. 'ﬂﬁmaﬂtnﬂ#m%,ﬁ%

(a) | aRAE ?
(b) FieT R, W= @ & n fdl s

1 mEl 91 9 8/

(c) AT &, 519 o & m frelt o
G IR G

(d iy 2, sm &% % m s n
IEITE A B

[P.T.O.




44, Consider the following statements in 46. The perimeter of a rectangle having

respect of the quadratic equation area equal to 144 cm? and sides
ax2+bx+b=0, where a# 0 : in the ratio 4 : 9 is
1. The product of the roots is (@) 52 cm

equal to the sum of the roots.
2. The roots of the equation are (b) 56 cm

always unequal and real.

fc) 60 cm

Which of the above statements
is/are correct? (d) 64 cm
fa) 1 only 47, Let A be a pyramid on a square base

and B be a cube. Let g, b, ¢ denote
the number of edges, number of

(b) 2 enly faces and number of corners
respectively. Then the result

fc Both 1 and 2 a=b+c is true for

{d) Neither 1 nor 2 fa) A only
(b) B only

45. If a and f are the roots of the fc} bath A and B

equation x2 — x - 1 = 0, then what is

{d) neither A nor B
o Bz
©* -B*)c -p)
48. What is the area between a square

of side 10 cm and two inverted

equal to? semicircular cross-sections each of
radius S5 c¢m inscribed in the

\ square?

fa) 2/5
a} 17-5 cm?

b} 3/5

o (b) 185 cm?

fc) 4/5 fe) 205 cm?

(d) None of the above (d) 2185 cm?

B-BCRB-M-NBU/48A 14




44, fad v ax? +bx+b=0, S® 46. UF A ¥, FrmE 8FFA 144 cm? &

a0, & = ¥ Frafofes sl @ T B SN gl A IgIE 4:9 8,
foram hifs gitA F|n 27
1. el & OEEdE, qE & ATE & fa) 52 cm
CHELE S
2. wigw % @ i@ @AM 3R (b} 56 cm
i 8| fc) 60 cm
TEE F 2w/ wd 28 (dj &% om
(a} Faa 1 47, WA oifsm 5 4 91 sTvR W T iR 2
: vt B @ 21 AR q, b, ¢ FEW:
(o) e 2 fermt <Rt "o, s & T@En IR e

$t wem W e w=@ g, @ ofem
a = b + ¢ fraes foo ad 87

fc) 132
(@ FA A

(@ TA 1 A2 ) ¥R .
{c AR BIH

(d) i AL B
45. afe wftem x2 - x-1=0% qol o 3P :

ot2+[32 2
ﬁ’ﬁ(ag—ﬁz)(a—ﬁ)mwé' 48. 41 10 cm & G ot ot @l & sFga @
vivenfra sidgamen ogwy wEl, T9®
5 cm Brem T, & o= & aawa fram

(a) 2/5 37

) 3/5 (@) 175 cm?
() 185 cm?

@80 {c) 205 cm?

(¢} 3T & @ FE T (d) 215 cm?
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49, One side of a parallelogram is 52. If the area of an equilateral triangle

806 cm and its perpendicular is x and its perimeter is y, then
distance from opposite side is which one of the following is
2:08 cm. What is the approximate correct?

area of the parallelogram?
@} y* =432x2
(@} 12:56 cm?
B) y* =216x2
{6} 14-56 cm?
fc) y? =432x2
¢} 1676 cm?
{d) None of the above
fd) 22-56 cm?

53. A rectangular field is 22 m long
and 10 m wide. Two hemispherical

50. What is the volume of a cone having pitholes of radius 2 m are dug from
a base of radius 10 cm and height two places and the mud is spread
21 cm? over the remaining part of the field.

The rise in the level of the field is
fa} 2200 cm?

(a) 8/93 m
(b} 3000 cm? (b} 13/93 m
(¢} 5600 c¢m?3 fc) 16/93 m
{(d) 23/93 m

(d) 6600 cm?3

54. The diameter of a circle with centre
at C is 50 cm. CP is a radial

51. What is the area of a circle whose segment of the circle. ABis a chord
arca is equal to that of a triangle perpendicular to CP and passes
with sides 7 cm, 24 cm and 25 em? through P. CP produced intersects

the circle at D. If DP = 18 cm, then
(@l 80 cm?2 what is the length of AB?
{fa] 24 cm
{b) 84 cm? b
(b} 32 em
c) 88 cm?
(o fc} 40 cm
(d) 90 cm? (d} 48 cm
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49, TR 9gYS I TH & 806 cm € B

i wH wgE YW R} owEm gl
208 cm 8| TR IgHS W G
g% T 27
fa} 1256 cm?
(b) 14-56 cm?

() 1676 cm?

{d) 22-56 cm?

50. & 1% F1, formeh amur A = 10 cm

ath fSrehl 39 21 em ¢, 3ad fra
#?

fal] 2200 cm?
(b) 3000 cm3
{c) 5600 cm?

(d} 6600 cm?

51. U8 39 & &9%d, f@s &% 7 om,

24 cm 3R 25 cm Wﬁaﬁﬁﬂﬁ%
EABE oh S 7, T &7

fa} 80 em?
{b) B4 cm?<
fc} 88 cm?

{d) 90 cm?
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52. IR wF wEE GNW W SmeE x v

wH iy y %, @ Fafaflaa 4 @
HH-T TF gel 27

a) y*=432x"
() y* =216x"
{c) y2 =432x2

(d) 394 4 | P13 T

53. UF JAMGER @d 22 m o= I 10 m

gt 81 afe 2 m Bren A 3 et
TR O T W ER 5§ sl ew Bt @
wd & f9 wm w T R s R, |
wd ) wer e 33f7

(@) 8/93 m
(b) 13/93 m
¢/ 16/93 m

{d} 23/93 m

54. @ T8 H, Fwm = c W &, =W

50 cm 2| CP 30 %1 & fieefg @vg ¢
ABSH1 §, St cPmiam R iR PR
gt el 21 sgTE R CP, 99 W D
W Fed 81 AR DP=18cm 2, @ AB
& arar fhafl R7

fa) 24 cm
{b) 32 cm
{c) 40 cm

{d) 48 cm
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55. A regular hexagon is ihiscribed in a

circle of radius 5 cm, If x is the area
inside the circle but outside the
regular hexagon, then which one of
the following is correct?

{a) 13 em? < x<15 em?
{b) 15 cm? < x<17 cm?
fc 17 em? < x <19 em?

{d 19 em? < x <21 em?

56. If x is the curved surface area and

y is the volume of a right circular
cylinder, then which one of the
following is correct?

{a) The ratio of height to radius
of the cylinder is independent
of x only

{b) The ratio of height to radius
of the cylinder is independent
of y only

{c} Either {a} or (b)
{d} Neither {a) nor (b)

57. A triangle DEF is formed by joining

the midpoints of the sides of
triangle ABC. Similarly a triangle
PQR is formed by joining the mid-
points of the sides of the triangle
DEF. If the sides of the triangle
PQR are of lengths 1, 2 and 3 units,
what is the perimeter of the
triangle ABC?

fa) 18 units
(b} 24 units
fc} 48 units

fd) Cannot be determined due to
insufficient data

B-BCRB-M-NBU/48A
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58. A tent is in the form of a right

circular cylinder surmounted by a
cone. The diameter of the cylinder
is 24 m. The height of the cylindrical
portion is 11 m, while the vertex of
the cone is 16 m above the ground.
What is the area of the curved
surface for conical portion?

fa)] 3434/9 square metre
b} 3431/8 square metre
fc} 3432/7 square metre

(d) 3234/7 square metre

59. What is the whole surface area of

a cone of base radius 7 cm and
height 24 cm?

{a) 654 square cm
fb) 704 square cm
{c} 724 square cm

{d} 964 square cm

60. A conical cap has the base diameter

24 cm and height 16 cm. What is
the cost of painting the surface of
the cap at the rate of 70 paisa per
square cm?

fa) ¥ 520

(b} & 524

{c) ¥ 528

(d) ¥ 532




55. 5cm ST 91 OF Jd F AT T @

O 21 ARG F9 & AR Ty 99 TR
¥ AR T &Ad x 8, @t Frafafas 3 Q
-1 T W 27

58. U A, ¥ T AFDRA o gfia oed

% ®9 4 ) A9 & AW 24m B
Fag 9m N T8 11 m 8, &6 TF
F A o ¥ 16 m IR | WiEwd 9w

fa) 13 cm? < x <15 cm? ¥ oF Y8 @ & T 87
(b) 15 cm? < x <17 cm? (@) 343479 T HR
) 17 em? < x <19 cm? (b} 343178 =1 Hix
(d) 19 cm? < x <21 cm? () 343277 B

(d) 323477 T HX
56. 4R TF oS I SO H TF T 83 x

R R s y B, o Pefafee # @

PR T W 27 §9. 7 cm MU fied 3 24 om S T
(a) ¥ $it Bem @ S | aguw T WF & R 98 Tl &A% e £7
Fad x | @A ¢ ) .
(h) s K fem @ I=d F1 s (@) 6543
S y @ T @) 704 = T
(c) M (a) A (b)
[d) T (o) MAE B o 24
(d) 964 Tt TR

57. @ ABC $t yaell & mwa-fagatt =
fiem wm #ffa By DEF %1 T AR
s DEF 1 wmeit F w-faga
w Pem w fAffa Bys POR 21 4R
s POR i yynait i e 1, 2 iR

60. T& THSHR A T IMYR-=TE 24 cm
3R ol F9rE 16 cm B 70 99 Wi

ot ddifler it | @ Adi F gy i ong Y
3 i %, Al B ABC 1 qfEm w0 T Bt 27 7 1 O
& '
(a) 18 FFTE fa) ¥ 520
(b) 24 (b) € 524
(c) 48 W
. (¢} ¥ 528
(d} gty gv % wo Pulfa T8 e
Sik:co (d) ¥ 532
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©61. The area of an isosceles triangle ABC

~ with AB= ACand altitude AD = 3cm

is 12 square cm. What is its
perimeter?

{fa} 18 cm
{b} 16 cm
f¢) 14 cm
{d) 12 cm

62. If the total surface area of a cube is
6 square unit, then what is the
volume of the cube?

{a) 1 cubic unit
(b} 2 cubic unit
fe} 4 cubic unit

{d} 6 cubic unit

63. The diameter of the moon is
approximately one-fourth of the
diameter of the earth. What is
the ratio (approximate} of their

volumes?
fa} 1:16 b} 1:64
() 1:4 [d} 1:128

64. A hospital room is to accommodate
56 patients. It should be done in
such a way that every patient gets
22 m? of floor and 88 m* of space,
If the length of the room is 14 m,
the breadth and the height of the
room are respectively

fa} 88 m, 4 m
fb) 84 m, 42 m
fcf 83m,4m

fd} 78 m, 42 m

B-BCRB-M-NBU/48A

65. If the diagonals of a rhombus are
4-8 cm and 1'4 cm, then what is the
perimeter of the rhombus?
fa) S5 cm
fb) 10 cm

{¢g 12 cm

{d) 20 cm

66. Consider the following statements in
respect of two chords XY and ZT of
a circle intersecting at P :

l. PX-PY =PZ-PT

2. PXZ and PTY are similar
triangles.

Which of the above statements
isfare correct?

{aj 1 only
(b} 2 only
fc) Both 1 and 2
{d) Neither 1 nor 2
67. ABCD is a quadrilateral such that
BC=BA and CD > AD. Which one
of the following is correct?
{a] ZBAD = /BCD
(b) 4£BAD < £BCD
{c¢} 4£BAD> £ZBCD

{d) 2£BAD = £BCD




61. &% AD=3 i W AB=AC 65. IR ws FHEgYd & @t 4-8 cm iR

- fc) 1:4

aw U GnieAg B ABC w1 dmwa
12 971 Sl 81 gaa afwms e 27

fa} 18 cm

1-4 cm §, @ wwgds #1 wfom G
27

fa) 5 cm
fb) 16 cm
10
fc) 14 cm ®) s
{d) 12 cm () 12 cm
{d) 20 cm

62. M TF 7 & $I I8 &I%G 6 I g

%,?ﬁﬂsrwlanmﬁmm%?

| 66. UF g0 &I & el Xy el zT, N Pw
@ 1 SR 1, & TR @ PR w @
) 2 fom i
¢} 4 9 TR 1. PX-PY=PZ.PT
() 6 g 2.- PXz 3R PTY Wy Bnge €1

63. IFH & =W, Yl k@ B oA

W-9YE R TF W A uheR
31T T 27 :

faj 1:16 (b) 1:64

fd) 1:128

64. TF STEAE & HE 3 56 VGl Ht =aen

B 78 W yer & AR =R &
s T w3 22 m? o Rgem
88m°® fim v IR =8 i war

l4m 2, & &5 #H deE oM F=
el Tomedt &7

fa) 88 m, 4 m
fbj B84 m, 42 m
fc/ 8m,4m

(d) 78 m, 42 m
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suder weEt | ¥ HE-T/Q T 2/E
(a) FEH 1

(b} e 2

fcj 1 3R 2 S

(d @ 1MRIF2

67. @& 937 ABCD # BC=BA 3K

CD > AD ®| fifafign & @ - o=
wEt 2?

{a) £BAD = /BCD
(b} 2BAD < £BCD

¢ ZBAD > £BCD

(d) 2/BAD = £BCD
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68, ABC and XYZ are two similar
triangles with ZC= /2, whose
areas are respectively 32 cm? and
605 cm?. If XY =77 cm, then what
is AB equal to?

{fa} 56 cm
fb) 58 cm
fci 6-0 cm
{d) 62 cm

69, A quadrilateral ABCD is inscribed in

a circle. If AB is parallel to CD and

AC= BD, then the quadrilateral
must be a

4l|.(a) parallelogram
fb) rhombus
fc) trapezium
fd) None of the above
70. ABC is a triangle right angled at A
and a perpendicular AD is drawn on

the hypotenuse BC, What is BC- AD
equal to?

fa) AB-AC
(b) AB-AD
{c) CA-CD

(d) AD-DB :

B-BCRB-M-NBU/48A

71. In a triangle ABC, ZB=90° and
£C=2/A, then what is AB? equal
to? '

(a) 2BC?
(b) 3BC?
{c) 4BC?
{¢) sBC?

72. The heights of two trees are x and y,
where x > y. The tops of the trees
are at a distance z apart. If § is the

shortest distance between the trees,
then what is s2 equal to?

(a) x?+y?-22-2xy

{b) x? + y2 -z2

fc} x%+ y2 +22 -2xy

{d 22 -x2 y2 + 2xy

73. The side AC of a triangle ABC is
produced to D such that BC=CD. If
ZACE is 70°, then what is ZADB
equal to?

(a) 35° “
b} 45°
fc) 70°

(d} 110°




68. ABC ¥R xyz 3 wrey P %, fwd 71. B9 ABC % zB=90° 3 ZC=2/A

/C=/Z R T % HHE 21 AB? Tomrd geg 7
32 cm? 3 605 em? ¥ @R
XY = 77 cm B, @ AB frad goa 87 {a} 2BC?
.

fa) 56 cm (b} 3BC

(c) 4BC?
(b) 58 cm

(d} 5BC?
{c} 60 cm
{d) 62 cm

72. 9 34l ) Tl x oM y & W& x> .
-geit & wiet & sl g 2 &) AR g
%+ @19 @y gt s 7, @ s? s g

69. T ABCD 0% g1 % ¥=rla 81 3Rk D 87

% THRR AB & 3R AC=BD, @ =
TS T @ fa) x2 +y®-2z*-2xy
(o} TAR TP 2 R LT
() wAugee &

{c} x2+y2+32—2xy
fc) w9 B _

2 2

() IEEF A A 7 @ i <yt

70. & 8w ABC, A W wRtE § i 73. s ABC #! Y AC ® D T W@

# BC W w @ AD @i o ) g W ¢ % BC=cCD. 3R
BC- AD fru% g 87 ZACB=70 %, W £ADB fras g&
; 27
fa) AB AC
{a) 35°
(b) AB-AD B G
(c) CA-CD ¢) 70°
(d) AD.DB (d) 110°
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T4. Consider the following sfatements : 76. E is the midpoint of the median AD
of a triangle ABC. If BE produced

. ' 1
1. If the diagonals of a meets the side AC at F, then CF is

parallelogram ABCD are

perpendicular, then ABCD may cgpale
he a rhombus.
fa) AC/3
2. If the diagonals of a
quadrilateral ABCD are equal b) 24C/3
and perpendicular, then ABCD
is a square. ) AC/2
Which of the statements given
above isfare correct? ({d) None of the above

fa} 1 only ; ‘ ;
77. POR is an equilateral triangle. O is

the point of intersection of altitudes
PL, QM and RN. If OP=8 cm,
then what is the perimeter of the
triangle PQR?

{b} 2 only

fc) Both 1 and 2

{d} Neither 1 nor 2 (a) 8/3 em
b) 1243 cm
75. Consider the following statements : (b)
1. The perpendicular bisector of a fc) 16J3 em
chord of a circle does not pass
through the centre of the (dl 2443 cm
circle.

2. The angle in a semicircle is a

right angle, 78. ABC is an equilateral triangle
inscribed in a circle. D is any point

Which of the statements given on the arc BC What is ZADB equal

above is/are correct?

to?
fa} 1 only (@) 90°
(b) 2 only (b) 60°
fej Both 1 and 2 fc)] 45°
{d} Neither 1 nor 2 {d) None of the above
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74. frmtafas s w foaw fifsw . 76. s ABC & wiitien AD %1 waa-fag E

1. R e Sl ABCD ¥ fel ;‘;f;fﬁ;ﬁ ‘i“"%fc‘* F
o= §, @ ABCD wH "n=gs ’ LR
el B
la) AC/3
2. TR w@is ABCD % Tawv =t
3 @ §, @ ABCD U 1 2| (b) 2AC/3
I9g wYAl A | w-T /A TE B/E7 fc) AC/2
d 7§ #5 1@
@ W (d) ¥ A A R
(b} FI 2 77. PQR U guag s 21 PL, OM 3ft RN
g w1 wfeedz g 0 ROl
(c) 13 23H OP=8cm %, o = POR 1 whum
1 &7
{df am1smad2
{aj 8J3 cm
(b) 1243 cm
75. F=fafiae st w fommr fifvw © 1643 em

1. g9 s S 71 7= fues, 99
& &hen | B AT e | (d) 2443 cm

2. 0 uw nfga F weEwr 2

el 1 @ H-a/d w2 78. T I0 b Al ABC U wHag e &1
L / / 94 BC W ¥ g D #1 <ADB ek
? .
@) Fae 1 o b
{a) 90°
(b) Fad 2
(b} 60°
c) 1 3R 2 3 el ase
(d) IR1Mad2 (d) U<E 4 & FE
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79. Consider the following statements :

1. If G is the centroid of triangle
ABC, then GA = GB=GC.

2. If H is the orthocentre of
triangle ABC, then
HA = HE = HC,

Which of the statements given
above is/are correct?

{a) 1 only

(b} 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2

80. If the bisectors Bl and CI of the

angles B and C of a triangle ABC
meet at the point I, then what
is £BIC equal to?

(@) 24 (b} 9P+ g
(c) 90°— g (d) 90°+A

81. If sinf+cos® =43, then what is

tan 8 + cot® equal to?
(@) 1

(b) 2

) 2

(d) 3

82. What is the angle of elevation of the

sun when the shadow of a pole of
X
height x m is — m?
® 73

{a) 30°
(b) 45°
(c} 60°
(d} 75°
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83. What is

cos?(45° +8) + cos2(45°-9)

tan (60° +8) tan (30° - B)

equal to?

(@)
(b)
(c)
(d)

84. If tan®+secB=m,

~]1

0

1

2

secB equal to?

{a}

(<)

85. If 55inB+12¢co0s8 =13,

m? -1
2m (b}
m+ 1 (d)

then what is

2m

+1

then what is

ScosB8 - 12sin8 equal to?

(@)
(b)
(c}
(d)

=2
]
0

1

86. If 4tan® = 3, then what is

4 s5inb —cos0

45in@ + 9cosh

equal to?
@ % ®)
(o) = (@

G |

O | —



- 79. Ffafaa s w f=m fife - cos?{45°+8) + cos? (45°-6)

. PR &
1. 3R S ABC ® F5% G &, o tan (60° +8) tan (30°- 6}
GA = GB=GC, 27
2. ok P ABC = @4 &% H R, @ -1
i HA = HB= HC.
foj O
I wyAl A A A-m /A wdh {80 _
fa) &= 1 C)
d) 2
(b) had 2 £
(€ 1 3R 2 20 84. IR tanb+sec8=m %, @ secd famd
(d @132 T4 37
2 2
80. ¥ B ABC % =it B alx ¢ & anfw a) QO_I (b) m2n-:1
Br 3k cr, forg 1w feR &, @ zBIC
TRk goa 7 2
., ) m+1 (d) m=-+1
@) 24 - ) 90+ 2 m
A
{cj 90°- 5 (df 90°+A 85. 9%  Ssin®+12cos6=13 ?, @
5cos 8 — 12sin 6 T gea 27
81. If sinf+cosb =3 B, @ tanb +cotd fa) -2 .
fora® g 27 ) -1
@) 1 ' e ©
(b) 2 @ 1
(¢ 2 . n
(d) V3

86. AR 4tan® =32, @

4sinf - cosé
4sin8 + Scosd

82, mxmm%"@:ﬁﬁmém%,

o G4 &1 I i R 27 i gea 7

(@ 30° 3 1

(b) 45° @ 5 -

{c} 60° 1 1

(d) 75° @ 7 @ %
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87. If sinB-cos8=0, then what is
sin* 8 +cos? 8 equal to?

(@ 1 (b}

W

1
{c] 5 (d)

£ =

B8. What is cosec(75°+8)-sec(15°-8)
equal to?

(@) 0
M) 1

{c) 2sin®
{d) 2cos8

89, If triangle ABC is right angled at C,
then what is cos(A + B} +sin{A + B)

equal to?

1
(@) O ) 5
fc) 1 {d) 2

90. Ifa,p, y are acute angles such that

3 V3

sinag = —, cosfl = —, tany =1
- p 5 a0y
then what is o + +y equal to?

fa} 105°
(b) 120°
(c) 135°

(d) 150°
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91. What is
sin® 0+ cos% 8 + 3sin? Bcos? 0
equal to? '
(@) O
b) 1
{c] 2

(d) 4

92. Consider the following statements

1. tan?9 increases faster than siné
as & increases.

2, The value of sinB+cosf is
always greater than 1,

Which of the above statements
is/are correct?

{a} 1 only
(b} 2 only
fc¢ Both 1 and 2

{d) Neither 1 nor 2

93. What is

(sin® + cos8) (tanB +cotB)
' sect + cosect

equal to?

@ 1 -
(b) 2

{c} sinB

{d) cos®




g, d

87. Uk sinB -cos8 =0
sin? 6 + cos* 8 fFms gwa 7

fa} 1 (b)

b

=

> ()

B

88. cosec(75° +8)-sec({15°~0) fru® [
27

{a} O
() 1
{c] 2sin8

{di 2cosB

89. R B ABC, ¢ W wH=ibm R, &
cos{A+ B) +sin{A + B) f&us ged 87

1

0
(a) (b} 5

(c) 1 (d) 2

90, 4Rt q, B, y =3 wm W € %
J3

sino =£, cosff=—, tany=1
2 2

W +p+y s g &7
(@ 105°
(b}
{c}

{d)

120°
135°

150°
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91. sin®0+cos®6+3sin?8cos?0 Bras
T 77

@ o
B 1
. 2

d 4

92, Feafafaa FwE w foen fifem .

1. 6% T4 W, sin8 H IV tand
At & =g 2|

2. sinB+cosd T AW Heg 1 B
wiftes € 81

I et § § BE-/8 T /R
fa) Fad 1

b) e 2

¢ 1323
(d) aar1amad2

93' (sin® +cos8) ftan B + cotB) . T
secH + cosech

4

@ 1
(b} 2
(c) sin®

{d} cos®

29 [P.T.O.




94. What is _
{1+sect~tanf)cos8
{1+secB + tanB) (1 -sinb}

equal to?
fa) 1
(b) 2
{c} tan®d
(d} cot6

95. A spherical balloon of radius r
subtends angle 60° at the eye of an
observer. If the angle of elevation of
its centre is 60° and h is the height
of the centre of the balloon, then

is

which one of the following
correct?

(a)
(b)
(c}
(d)

h=r
h=2r
h=4J3r
h=2r

96. Methods of presentation of data are
(a)
(b}
(c)
(d)

tables only
graphs only
diagrams only

All of the above

97. The average of u, v, W, x, y, 2 is 10.

What is the average of u+ 10, v + 20,

w+ 30, x+40, y+50, 2+ 60?
fa] 30
(b} 35
fe) 40
(d) 45
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98. f misthe meanofp, g, r, 5, &, 4, v,

then iwhat is

(p-m)+{g-m)+i{r-m}+is-

m)

+f-m}+{u-m)+{v-mj

equal to?

{a) 0

(b) s

fc) (p+v}/2

{d) None of the above

For the next two {2 ) iterns that follow:

The median of the following distribution is

14:4 and the total frequency is 20 :

Class interpal| 0-6 | 6-12 [12-18]|18-24

24-30

Frequency 4 x 5 u

1

99. What is x equal to?
(@) 4
(b) S
c 6
d 7

100. What

and y?
(@)
(b)

2x = 3y
3x =2y
fc)
(d}

xX=y

2x = y

is the relation between x




{1 +secB - tanB) cosH
{1+sec+tanB){1-sin6)

27

fa 1
(b} 2
fcj tané
{d) cot8

94,

95. r v W @ M =R R Yuw H
Hg W FWM 60° FE wWal B TR
36 &% F IAA HW 60° & T e
& &% # FAR h Y, @ Fefofee & R
FA-91 T HE B?

fa) h=r
(b} h=y2r
fc) h=y3r
(d} h=2r

96. W & W it qgRnl = 87
fa) oA T
(b) FaA I
fc) & NG
(d) I W

97. R u, v, w, x, y, z %1 3Ed lO%,Fﬂ
u+10, wv+20, w+30, x+40
y+ 50, z+ 60 F1 3iHa =1 87

fa} 30
b} 35
fc) 40
(d} 45
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98. ﬂﬁp, g, T, S, t, u, v HT m%,‘cﬁ

(p-ml+(g-m)+(r-m)+(s-m)
+t-m)+(w-m)+v-m)

T gou 27

fa) 0

) s

(] (p+v)/2

{d) IwEw T F = T

T 3T T T (2 ) WEIH & fovw

fefefan sver 6t wfeem 144 ¥ ol Tw
A1 20 § ;

& A=A | 06 | 6-12112-18{18-24(24-30

TR 4 x S 7] t
99. x fFu% gwa &7

fa) 4

) 5

(c) 6

d) 7

100. x 3R y % o9 ¥ Gery 27

fa) 2x =3y
b} 3x=2y

{d 2x=y
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Note : English version of the instructions is printed on the front cover of this Booklet.




